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Va(t) = '\/E VABCO 'COS(U)‘t + alg(VABCO))

vip(t) = \/5 VABC1_ -cos(w-t + arg(VABCl))

V() = \/E VABC2 -cos(w-t + arg(VABcz))

3><105 T T T
va(t)

V(1)
V() —Ix10
0 i J

LY Y\q

—3x105

e Convert a and a2 to units of time

/\zob

o= ﬂ T, = 5.556-ms
360deg-60Hz !lﬁ 0
2
o arg(a )+360deg T = 11L111-ms 2
450" " 360deg-60Hz = .

Note that: I =GA +alp + az-b/z

e This equation involves rotating Ip and I by positive angles,which would mean
advancing in time.

e We canonly delay measurements, not advance them
e Recall that:

-2 -2
-1
a =a a—-a =0

e Instead we will use the following tions for T1 2TP12 with time delays.
Io ¥ O &

I e =L
ABCO+a “ABC, +a - ABC,
|1

I ale = ] 3 1\
& iy
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Tp “OCTE O 4C

I ~Li “23
ABCO+3 “ABC, +a - ABC,
3

I alt =

Asacheck 5 \

-1
Ilﬁalt = 1012] = (—4547 X 10

3 _2074ix 107 13) A

13

= . - 13
Ilalt_1012l=(—4-547><10 _2274ix 107 3) A

/A \
e Find sequencﬁkant treaking angle rotations as time delays

(ia(t) + i () + ic(t))
3

(ia(t) 4 ib(t~ Ta_sq) 1 ic(t - Ta))
3

& ll(t) =
- (ia(t) + ib(t—Ta) 4 ic(t+Ta))

lz(t) =
5 oy N
'\s%\ 1@ MU

T

3x 103

ig(t)
—_ 1x10°
ij(t)
() —1x10°

e

_ 3x103 1 | 1
0 0.01 0.02 0.03

iO_check(t) = lo(t) *ﬁ' 10120 -cos(w-t+arg 10120))

)

ichheck(t) s lz(t) —'\/5' 10122 'COS(W‘t+ arg 10122))

o

t
if_check(® =19 —/2 lo12, ‘COS(‘”'Harg(Iol
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